Page 22

e N IIEATEIRIT
by TDaysirem .

FINAL TUNE

3/4" SPACER - @

| \@ .
LOER LU X
o) <o

#8 FLAT
METAL

@  WASHER
#6 LOCKWASHER A

&
&
g &
§ #4 LOCKWASHER
T
=2

&)
6-32 X I"SCREW

PICTORIAL 11

PARTS MOUNTING-CHASSIS
Refer to Pictorial 11 for the following steps,

(/) Referring to Detail 11A, install the octal
plug at the Power Plug location, using the
octal socket ring., Position pins 1 and 8 of
the socket as shown,

( “) L5, Install coil #52-25 at L5 on the chas-
sis, using the transformer mounting clip,
Position the coil lugs as shown,

NOTE: Keep the plates of the variable ca-
pacitors closed to prevent damage,

REFERENCE HOLE

4-40 X 5/16" SCREW

DL

]
.

e
#g SOLDER @\\
T~ 4-40 NUT

\ ,

@ #4 LOCKWASHER
s
BEd

(/; C131. Install the VFO variable capacitj
(#26-28), using four #4 lockwashers, f
flat metal washers, and 4-40 x 5/1f
screws, Bend capacitor lug 1 upward 4

shown,
-—

HOLD THE PLUG IN THE CHASSIS HOLE AND PLACE
ONE END OF THE RING INTO THE GROOVE OF THE
PLUG. USING A SCREWDRIVER, PRESS THE RING
INTO THE GROOVE AROUND THE PLUG.

Detail 11A




